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T—y+z+w =5
(2043) KETHITRRAL y— 2+ 2w = 8
2r —y—3z+4w = 18

(2047) WAL m x nIHRE, N(A)& A2 (null space). UEH:
(a) #7ATA =0,A = 0.
(b) N(A) = N(AT A).

(1073) B AR — D HFE, Bit—M4 x 3HIFERE, C& 13 x 1R
WAEA = BC. iFHAZAT Y (not invertible). k2, #AZE—4FrA
AR, WIAEE—AM x 3IHFE BRI —AN3 x AHIFECiIfS A = BC.

(1073) & 15 A1 3B A B A A2 A1) %1% 5] (column space) C'(A) 1% %% [A] (Null
space) N(A)HE L, BIC(A) = N(A). R AR —D6BHFENE? Wik Ar7E,
2T I, RN

(109) WA = I3 — 2aa®, Hia = (21,29,23)7, Hala =1, EHAR]
W RAMY. Lo = (0,0,1)7 58 X—AWf - R® — RYL: Vo €
R3, f(z) = Az, BRI IR LT o

(10%) e = ( bl )

(a) RIT3 x 20 FEFEXEFAFAX = 0.

(b) 4&—A3 x 2RHEXo, LAY, = ( Lo )

(c) SRIFFA3 x 2MMIEX (A AX = ( 0 1 ) |

(1073) KHFEA = (I PLU 5> fi# -

0 1 2 A A
(10) WA= 0 3 7 | . RIPHEEFE (block matrix) B =
00 4 2 A4

IR AAT B B (reduced row echelon form).
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—. The reduced row echelon form
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(A — B)x =0 if and only if z = 0. The rank of A — B is 5.
N(C) € N(A). Since rank(C) < 3, N(C) # {0}.

n=6, A= < 0 0
A? =1,. A: reflection matrix with respect to the mirror «
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(a)Each column of X is the linear combination of vectors in N(A).
The answer is not unique.
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RREF(B) = (
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